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- -r,- {;hlﬂﬂlﬂ of the Union Power
Cm*uﬁhe Constituent Assembly of
h:dﬁ?

:{I’i} Dr. Rajendra Prasad

(B} B Krlpaf,ﬂm
(C) Sardar Vallabhbhai Patel
(D) Jawaharlal Nehru

I he ancient mathematics book Ganita-Sara-
~angraha was authored by

(A) Ehﬂgkﬂfﬂhm

(3 Mahaviracharya

(1) Arvabhatt

(12} Brahmagupta

Who has written an English book

“Unleashing India” which outlines how India

can become o superpower in 25 to 30 years?
(A) Veerappa Moily

(B) SMKrishna

(C) Shashi Tharoor

(D) Manohar Parrikar

In December 2016, Indian Railways started
the first Humsafar class of trains between
Anand Vihar and

{A) Allahabad

(B) Gorakhpur

(C) Varanasi

(D) Ballia

The famous Sufi Saint Sheikh -Etllim‘ﬁiiél?ﬂ -

Dargah is situated at in Uttar
Pradesh.

(A} Jaunpur

(B) Kannauj

(C) Fatehpur Sikri

(D) Barabanki
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Which is the third highest peak in the
Himalayas? ;

(A) Mount Lhotse !

(B) Mount Makalu

(C) Mount Fuji

(D) Mount Kanchenjunga

What is the state flower of Uttar Pradesh?
(A) Rose

(B) Marigold

(C) Jasmine

(D) Palash

Where is bile produced in humans?
(A) Stomach

(B) Pancreas

(C) Liver

(D) Gallbladder

When was the National Human Righis
Commission set up in Indja?

(A) 2000

(B) 1995

(C) 1993

(D) 1950

Which of the following diseases is caused
by fungi?

(A) Tonsillitis

(B) Gallstones

(C) Heart attack

(D) Ringworm

Which Indian state accounts more than one-
third of sugar production and output as of
2016-177

(A) Gujarat

(B) Uttar Pradesh

(C) Maharashira

(D) Kamataka
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Which of the following is the oldest
university in Uttar Pradesh? -
(A) Aligarh Muslim University

(B) Banaras Hindu University

(C) Mahatma Gandhi Kashi Vidyapeeth
(D) Allahabad Central University

Which Uttar Pradesh city is known as the

‘Grasse of the East™?
(A) Gorakhpur

(B) Moradabad

(C) Banarus >
(D) Kannauj

Which neighbouring country is known as the

* *Land of the Thunder Dragon'?

(A) Burma
(B) Nepal
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37  Who was the first woman Leaiee frer
J0pposition in the Pakistan Senated

.-_-hi_lﬂ_“.iﬂ Bhutto Aardari
(B) Benazir Bhutto
(C) Sherry Rahman
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Numerical & Mental Ability

Q76  What will be written in place of the question
mark in the given series?

B2I9R | 8T20H?

(A) 6

(B) 7

(C) 8

(D) 9

Q77 What will be the 29th letter of the sequence:
&b, bccocd dldldr_____?

(A) I

(B) g

(C) h

(D) i
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(D) 9
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5 1o the fuct

girls,

%) No, though giris may be intelligen;,
parents haye to keep money aside for
their marr iages.

(A) Only Argumen 1 i strong.

(B) Only Argument 2 is sir, g

(C) Ne‘ithurmgumem I nor 2 is str, N

(D) Both Arguments | ang 2 are strong,

Read the following question and degide

which of the arguments that follow js/are
strong,

Question:

Should a cricket team have more than one

captain during a match?

Arguments

1) No, one needs to make decisions on the
Spot and there won’t be time to resolve
conflicting ideas between the captains
on the field if such a scenario emerges,

2) VYes, itis always better o have more
brains coming to an understanding
before taking a decision.

(A) Only Argument | strong.

(B) Only Argument 2 is strang,

(C) Neither Argument | nor 2 js strong,
(D) Both Arguments 1 and 2 are strong,

Which of the numbers given below is NOT 4
Square number?

(A) 1225
(B) 2025
(C) 2525
(D) 4225
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The interest earned on ¥ 2,500 deposited for
3 years at 4% simple interest per annum will
be e

(A) T 240

(B} <250

(C) % 288 =

(D) 300 (]

What will be the interest earned on T 1,400
for two years if the interest is cmnpﬂunded
annually at 10% per annum?

(A) T288

(B) 294

(C) 302

(D) T 308

Ravi and Rashmi invested T 150 and ¥ 200
respectively in a business but Ravi withdrew
his money aftera fewmnﬂls. If the end-of-
twelve-months® profit was shared between
Ravi and Rashmi in the ratio 1: Laﬁarhnw
many months did Ravi take out hls money?
(A) 4

(B) 6

(C) 8

(D) 10
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preceded and followed by *E’in the following
Series?

ETETTMEEETETETT' TTEET
TTEEETETETETT! ETE

(A) 7

(B) 6

(C) 5

(D) 8

What will be written in place of the question
mark in the given serjes?
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AT

(B) R

©) Q

(D) p

QUI2. PR sfarst 4 O3 e T8 o

q¥a el 3 aw A p
ETETTMEEETETETETTEET
TTEEETETETETTEETE

W
Jadl § gwEfiE & e o
i1 WAIRIe

BH24X7G 150177

(A) T

(B) R

(€) Q

(D) P

Mental Aptitude, 1Q & Reasoning Ability
Q114 us miers 6t 3w Wda w4 5 9l

Pointing to a photograph Savita says; “He is
the son of the only son of my grandfather.”
How is the man in the photograph related 10
Savita?

(A) Brother

(B) Father

(C) Son

(D) Uncle

Pointing to a woman, Gita said, “She is the
daughter of the only child of my
grandmother.” How is the woman refated to
Gita?

(A) Niece

(B) Cousin

(C) Sister

(D) Mother
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Which fipure is related 1o ﬁﬁﬁlﬁ i the 5
way as figure 2 is related to figure 17
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Q138 Consider the follow

= Ing statements to be true
even 1t they seem to be at variance from
commaonly known facts. Decide which of the

given conclusions logically follows from the
statements,

Statements: T
1)  Some desks are ups [
2) Nocapis black. |

Conclusions:

)  Some caps are desks.

1) No desk is black.

(A) Only conclusion I follows

(B) Only conclusion Il follows:
(C) Both, conclusions I and Il follow
(D) Hﬁi!_l;at conclusions | nor I follow

Q139 Find the missing number: 2,?13 ifﬁ&?
(A) 101
(B) lﬂ!
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Q48 FTRUTH ; W eoded as S1 g IS T‘u’ﬂUﬂ' then

how wifl LIES be eoded?
(A) It.M.!HDF'TIl

(B) hMHIDFRT

(C) HJDF RTH
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